[image: image1.jpg].... Recruitment
O & Employment
® Confederation
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REC Level 5 Diploma in Recruitment Leadership
RECTC 5-4 Financial Management in Recruitment
Past exam paper
Time allowed:  90 minutes
70 marks

· Students are required to answer all questions

· Marks allocated to each unit and question are clearly shown

· Where appropriate bullet points can be accepted

· Do not penalise students for grammatical/spelling errors

· Annotate the MS where additional, relevant answers are given by students

· Mark in red ink

· Ring totals for each of the questions and transfer to front cover

· Indicate you have seen each and every page by marking in red ink

· Do not add personal comments about student performance

· Alert REC to any suspicion of collusion, dyslexia or other problems

· Keep an independent record of student marks in case of mislaid scripts

· Alert REC to any comments, notes etc., in script from student
Mike is the Finance Director for Just InTime Recruitment (JIT). JIT is a high street recruitment consultancy that acts as both an employment agency and employment business.

JIT has 15 branches throughout the South East of England. They are looking to expand their branch network and grow by 10% over the next 12 months. In 2016, their turnover was just over £35m and gross profit of £4.8m.

1. 
JIT has just taken on an apprentice, Emily, within their business administration department, which Mike leads. Emily asks Mike to explain the differences between Financial and Management Accounting.
a) Give four specific responsibilities of a Financial Accountant that a Management Accountant would not undertake.








(4 marks)
Award 1 mark for each answer up to a maximum of 4 marks

A 
The recording of transactions 







(1 mark)

B
Maintenance of all financial ledgers







(1 mark)

C
Maintenance of the cash book and reconciliation of accounts




(1 mark)

D
Preparation of accruals








(1 mark)

E
Debtors control and debt collection







(1 mark)

F
Creditor Relations









(1 mark)

G
Recording of VAT and similar taxes







(1 mark)

H
Completion of Tax returns








(1 mark)

I
Day to day banking








(1 mark)

R
Any other reasonable answer







(1 mark)

AC 1.1 


2. 
JIT have just joined the REC as a corporate member and have decided to invest in staff training and qualification programmes. Discuss the impact that the benefits and costs of staff training may have on the JIT’s finances.









(4 marks)

Award 1 mark for each correct answer up to a maximum of 4

A
Short term costs will rise – cashflow decrease to pay for the training and qualifications














(1 mark)

B
Staff attrition should decrease reducing future recruitment costs 



(1 mark)

C
A reduction in staff attrition will also reduce the lapse in revenue generation when new hires join and get up to speed. 










(1 mark)

D
Better trained staff will improve efficiency / productivity, reduce errors resulting in improved revenue












(1 mark)

R
Any other reasonable answer 







(1 mark)

AC 1.1


3. 
JIT has recently opened a new branch in a university town where an existing client, a restaurant chain, has two large outlets. They have always used a local agency for all of their permanent and temporary workers for restaurant manager, team leader, waiting staff and chef positions. This would be a significant ‘win’ for JIT’s new branch and would potentially more than double the current sales figures. Mike has calculated the breakeven point for this piece of work using semi-variable costs. 

He needs to draft a pricing proposal to try and win this business and decides to adopt and offensive pricing model. 

Give three pricing strategies that Mike could use and give an explanation of each. 




(6 marks)

Award 1 mark for each correct strategy and a further mark for the correct explanation.

A
Competitive pricing – (1 mark) prices are set with consideration for competitors’ services pricing. If there is little that distinguishes your service / product from competitors, then your pricing may have to track competitors’ prices more closely. 







(1 mark)

B
Loss leader (1 mark) – A product/service is sold at a low price in order to encourage the sale of other, more profitable, products/services  







(1 mark)

C
Penetration pricing (1 mark) – to help penetrate a new market/client, a price may be set artificially low. It can be difficult to alter this price once a client has become accustomed to buying at that level. 













(1 mark)

D
Dynamic pricing (1 mark) – A pricing mechanism that has the ability to change constantly in response to market dynamics and fluctuations. This is relatively rare in recruitment as clients often wish to set prices for the contracted period. 








(1 mark)

E
Target pricing (1 mark) – A method of setting a selling price to provide a specific return for a specific volume of sales.










(1 mark)

R
Any other reasonable answer and explanation





(1 mark)

AC 1.1, 1.2, 1.3
 

4.
If the restaurant chain was to decide to implement an RPO, explain the impact that supplying temporary workers/contractors to them, through the RPO, may have on JIT’s financial management processes.









(4 marks)
Award 1 mark for each correct answer up to a maximum of 4:
A
Loss of control over cash flow forecasting






(1 mark)

B
Predictability of payment








(1 mark)

C
Falling credit rating








(1 mark)

D
Ability to access funding








(1 mark)

E
Increased cost of funding








(1 mark)

R
Any other reasonable answer 







(1 mark)

AC 1.2, 4.4


5. 
If Mike was to use zero-base budgeting for JIT, explain which areas of the business could be included under the ‘intangible justifications’ for a company using zero-base budgeting.














(3 marks)
Award 1 mark for each answer up to a maximum of 3: 

A
Business Administration 








(1 mark)

B
IT










(1 mark)

C
Research and Development








(1 mark)

D
Marketing









(1 mark)

R 
Any other reasonable answer







(1 mark)

AC: 1.3, 2.1




6. 
JIT is in a growth phase and is constantly looking to evolve their product offerings and strategic goals. Why could activity-based budgeting be an appropriate budgeting method for JIT?












(3 marks)

Award up to 3 marks for an answer including these points
A
Strong link between ABB and strategic goals






(1 mark)

B
High degree of refinement – focuses on volume and types of activities within the business













(1 mark)

C
Easy to see how much budget is assigned to different parts of the business to support decision of where to invest / focus









(1 mark)

R
Any other reasonable answer







(1 mark)

AC 2.1 



7. 
The REC sponsors the monthly UK Labour Market Report on Jobs which is compiled by IHS Markit. This is the most up-to-date source of monthly UK labour market data and analysis.  

Why would this be an important source of data for a recruitment consultancy employing the ‘beyond budgeting’ model? 








(2 marks)
Award up to 2 marks for an answer along the lines of:

It creates and fosters a performance climate based on competitive success via reference to external benchmarks as opposed to internally fixed targets

AC 2.1 


8. 
Which analysis tool would Mike use to measure the extent of change in variables and underlying assumptions that could impact the cash flow and profitability of a project?















(1 mark)
Award 1 mark for the correct answer

A 
Sensitivity Analysis








(1 mark)

AC 2.2


9. 
Mike feels that JIT’s commission scheme needs to be reviewed and updated. Explain the rationale for performance-related pay for recruiters. 






(3 marks)

Award up to 3 marks for an explanation that includes:
A
Encouraging high performance levels by linking performance to pay 



(1 mark)

B
Embedding an entrepreneurial or high-performance culture across an organisation 

(1 mark)

C
The notion of equity or fairness 







(1 mark)

R
Any other reasonable answer 







(1 mark)

AC 2.3 


10. 
These ratios have been calculated from the JIT’s financial statements:
	Date of Accounts
	31/03/19
	31/03/18

	Pre-tax profit margin %
	5.17
	4.71

	Current ratio
	1.82
	1.78

	Sales / Net working capital
	11.44
	11.03

	Gearing %
	38.6
	52

	Equity in %
	45.9
	44.5

	Creditor Days
	1.49
	1.26

	Debtor Days
	43.76
	56.49

	Liquidity/Acid Test
	1.81
	1.78

	Return on Capital Employed %
	57
	50.6

	Return on Total Assets Employed %
	26.17
	22.5

	Current Debt Ratio
	1.17
	1.24

	Total Debt Ratio
	1.17
	1.24

	Return on Net Assets Employed %
	57
	50.6


Explain why the majority of the numbers quoted have increased from 2018 to 2019, but the gearing ratio has decreased. 








(2 marks)

Award up to 2 marks for an explanation along the lines of:
The business has grown significantly; revenues and profitability are higher in 2019 than 2018. A lower gearing ratio reflects an increase in equity in proportion to debt.

AC 3.1 


11. 
What is the difference between the ‘current ratio’ and the ‘liquidity/acid test’?














(2 marks)

Award up to 2 marks for an answer along the lines of: 

Liquidity/acid test does not include any stock value as there is no guarantee that it can be realised/liquidated quickly

AC 3.1 




12.
Explain the differences between a ‘balance sheet’ and a ‘profit and loss statement’.














(2 marks)

Award 1 mark for each correct answer up to a maximum of 2:
A
The P+L covers a specific period of time whereas the balance sheet is a snapshot on a particular date












(1 mark)

B
The balance sheet shows what the company owns and owes 




(1 mark)

C
P+L summarises the revenues, costs and expenses incurred over a specific period of time 













(1 mark)

AC 3.1, 3.3 


13. 
Mike is considering using Free Cash Flow (FCF) analysis. What is the purpose of Free Cash Flow analysis? 










(3 marks)

Award up to 3 marks for an answer along the lines of 

FCF is a measure that aims to cut through the "guesstimations" involved in reported earnings. Regardless of whether a cash outlay is counted as an expense in the calculation of income or turned into an asset on the balance sheet, free cash flow actually tracks the money.

AC 3.2 


14. 
Describe two ways in which Mike could calculate FCF.




(4 marks)

Award up to 2 marks for each correct answer up to a maximum of 4:
A 
To calculate FCF, look at the cash flow statement and balance sheet. There you will find the item “operating cash”. From this number, subtract the estimated capital expenditure needed for current operations:












(2 marks)

B
 look at the income statement and balance sheet. To the net income figure you need to add back charges for depreciation and amortisation and make an additional adjustment for changes in the working capital. This is done by simply subtracting current liabilities from current assets. Then subtract capital expenditure.












(2 marks)

AC 3.2 



15. 
How might FCF give the impression of significant growth for JIT’s employment business activities?












(4 marks)

Award up to 2 marks for each answer up to a maximum of 4:
A 
The majority of the capital expenditure (costs) in placing a contractor are up front and the revenue (margin) accrues over time, so if FCF is calculated after the placement has been made, it will show revenue with very little cost 










(2 marks)

B
Some employment businesses may calculate the total revenue (margin) for the length of the contract even though that revenue may not be received within the year.




(2 marks)

R 
Any other reasonable answer  







(2 marks)

AC 3.2



16. 
When conducting Comparative Financial Statements analysis, which financial statement shows the effects of operations on assets and liabilities from one period to another? 



(1 mark)

Award 1 mark for the correct answer

A
The balance sheet 









(1 mark)

AC 3.3 



17. 
If JIT decides to seek funding to help their expansion, give four questions that Mike should ask before going ahead.









(4 marks)
Award 1 mark for each correct answer up to a maximum of 4:
A
How much needs to be raised?







(1 mark)

B
Is the money needed for short or long-term plans? 





(1 mark

C
Is the money needed growth or just to sustain the business?




(1 mark)

D
Is the business prepared to offer security over an asset, either personal or business? 

(1 mark)

E
Is the business prepared to bring in an outside investor and give up either a minority or majority stake?












(1 mark)

F
How will repayments be financed?







(1 mark)

R 
Any other reasonable answer 







(1 mark)

AC 4.1 
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18. 
JIT’s bank has proposed Invoice Financing as an option for this funding. Mike’s MD had asked him to detail the differences between Factoring and Invoice Discounting. 

Compose the e-mail that Mike would send to his MD explaining the differences.














(10 marks)
Award 1 mark for each correct point, up to a maximum of 10, for the details contained in the e-mail that Mike sends:
Factoring
A
The bank would manage the sales ledger and collect any monies owed by customers.

 (1 mark)

B
When an invoice is raised, the bank would buy that debt from JIT



(1 mark)

C
The bank would make a % (70-85%) of that invoice value available to the business up front













(1 mark)

D
Once they have collected the money from the customer they would make the remaining balance available to JIT










(1 mark)

E
The bank would charge interest and fees to JIT





(1 mark)

F
JIT’s customers would know the JIT is using factoring





(1 mark)

Invoice discounting

G
JIT would continue to manage the sales ledger and collect debts from customers

(1 mark)

H
The bank would usually set a limit for the amount of money that can be lent to JIT

(1 mark)

I
The bank would lend JIT money against the unpaid invoices at an agreed % of their total value up to the pre-agreed limit and a fee is charged






(1 mark)

J
As customers pay their invoices, JIT would pay the bank which means it can then borrow more money against new invoices








(1 mark)

K
JIT’s customers would not know that they are using invoice discounting


(1 mark)

R 
Any other reasonable answer







(1 mark)

AC 4.1 


19. 
Mike’s MD has asked him to explore crowdfunding options. What is the difference between debt and equity crowdfunding?








(4 marks)
Award up to 4 marks for an explanation along the lines of:
Debt crowdfunding is when investors lend money to a company, who then repays the investor on a regular basis. The company has to pay their debts before taking any profits, and if the company went under then debtors would get paid first. So this is a lower risk form of investment than Equity.

















(2 marks)

Equity crowdfunding is when investors buy shares in a company and become part owners. They make a return on their investment either by being paid a dividend OR by selling their shares at a later date, when the company value has increased. The board of the company will decide whether to pay a dividend and how much, and if and when to sell the business, so this tends to be a higher risk form of investment as there is no guarantee of amounts or timescales for returns. Equity investments should have higher returns than debt investments, to compensate for this higher level of risk.












(2 marks)

AC 4.1 + 4.2




20. 
If JIT, as a limited company, were to choose some form of equity financing, what would be four of the main potential disadvantages of choosing this form of funding?













(4 marks)

Award 1 mark for each correct answer, up to a maximum of 4:
A
Raising equity finance is demanding, costly and time-consuming, and may take management focus away from the core business activities.







(1 mark)

B
Potential investors will seek comprehensive background information on the business owners and business operations. They will look carefully at past results and forecasts and will probe the management team. Many businesses find this process useful, regardless of whether or not any fundraising is successful.












(1 mark)

C
Depending on the investor, some loss of power to make strategic decisions by the existing management team may occur.









(1 mark)

D
There will need to be a significant investment of management time to provide regular information for the investor to monitor.








(1 mark)

E
There can be legal and regulatory issues to comply with when raising finance, e.g. when promoting investments.









(1 mark)

R
Any other reasonable answer 







(1 mark)

AC 4.2, 4.3


(Total: 70 marks)

END OF QUESTIONS

© Recruitment and Employment Confederation

                                                   Page 10 of 10
Past exam paper

